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SIMPLE INTEREST AND COMPOUND INTEREST

A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the
principal

a. Rs. 7,200 b. Rs. 7,000 c. Rs. 7,300 d. Rs. 6,200

@b GPULLI' L Gamevswmas 8% eailly alghdhdled 5 emiBsenev ep.10,080
AHBBH. DIFM6VDH HTEWIS.

a.65.7,200 b. e5. 7,000 c. 5. 7,300 d. ep. 6,200

[f2A=3B=4C,then A:B:Cis
2A=3B=4C aafled A:B:Cx smams.
a.2:3:4 b.4:3:2 c.6:4:3 d.20:15:2

In the NEET exam, out of a total of 180 questions, Jeyanth answered %

of the questions correctly and % of the questions incorrectly. How many

questions did Jeyanth not attend at all?

hHBIUSHImBUI  CaTaugmEd GChfw  Slenaled BOLOUBID  HIDLWS

Baiolled Qurssd 180 elamaser o eionar. Gmwbs eaLe % LTS
)

AT HBHEHHS) gflwnseyLb, s LIMGI& AT HBHEHDHS) SHUBTHELD

alewLwWealwH me, T  alewLweldbarsd  alamsbseller  6lemrentdHand
616116)161T6)|?

a. 16 b. 24 c. 20 d. 32

Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6
months.

7,500 6@ 8% eu'lp aiFHld @@h UIHLID 6 LDTHBIGBEHHHTET Heoll UL 19enUld
BT GO

a. Rs. 600 b. Rs. 700 c. Rs. 800 d. Rs. 900

Which of the following pairs is relatively prime numbers

a. (12,15) b. (101, 201) c.(3,9) d. (17, 51)
LNevTeu(hHeueteuBmie 6lhd Gemg eTewiHelT FTT LIST 6160I&H6eNTEHLD?
a. (12,15) b. (101, 201) c.(3,9) d. (17, 51)
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10.

Vishal deposited Rs.200 per month for 5 years in a recurring deposit
account in a post office. If he received Rs. 15,660. Find the rate of interest

alagmed ealOleuTH TS HlUSBHHMID H.200 & T DEHhFLBHHE0 5
AWBHBEHEEG OCFVSHFH aUBSTT (PIYaled SjeuT ¢h.15,660 OLUBBTT 61660
ALY aiHlD 6T6oT6017

a.12% b. 5% c. 10% d. 9%

The simple interest on a sum of money is % of the principal. Find the

rate percent and time if both are numerically equal.

a. 8%%, 8% yrs b. 7%, 7 yrs C. 7%%, 7%yrs d. 8%, 8yrs

9
@ GEIUILL OsTensulle SHeleaul IQUITEIH  DIg 606 T DL IG @ FLOLD.

AL AISHIPD, UBL(PD  elewl  GHITeD  Fowrds  BhEHSWOUTH  eullg
AHHMBUID GU(HL SHEDHUID BHIT6UT.

a. 8%%, 8% QU(THL_MBIGH6IT b. 7%, 7 eumLBIGH6T

C. 7%%, 7% QU(THL_MRIGGIT d. 8%,8 eu@HLBIGa6IT

Find the Principal that will yield a compound interest of Rs. 1,632 in 2
years at 4% rate of interest per annum.

a. " 19,000 b. 17,500 c. 18,000 d. * 20,000

4% s au'lp eipliug 2 opemiBHsened h 1632 Sl aullp  SHHD
DIFMEVSH  SHITENIRLD

a. " 19,000 b. 17,500 c. 18,000 d. * 20,000

If the simple interest for an amount at 4% per annum for 3 years is Rs.
1,200. Find the compound interest at the same rate for the same amount
for 2 years.

a.Rs. 10,116  b.Rs. 10,720  c¢.Rs. 10,616 d. Rs. 816

@B G L OFHTendsEd 3 aUBLSHU 4% ey aishdHed @h. 1,200
sl ly SHmLsHBH. 6CH OCHTmsEHFH 6 ey aiHHH0 2
AUHLSHH60 HewL G Fnl B U1y wWmgl?

a. Rs. 10,116 b. Rs. 10,720 c. Rs. 10,616 d. Rs. 816

Find the compound interest on Rs. 8,000 at 15% per annum for 2 years
4 months compounded annually.

ah  8,000-5@& opewignGg 15% ey aldssHed 2 oewiG Bmid 4
LOTHSHHMBTOT Fnl B QUL IgeDUl H6wTHD (Hb.

a. Rs.3110 b. Rs.3109 c. Rs.3106 d. Rs.3108
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11.

12.

13.

14.

15.

16.

The population of a village has a constant growth of 4% every year. If its
present population is 32448. What was the population two years ago?

a. 31424 b. 28868 c. 30000 d. 31242

QR HToSHer wHHeT OFTend @CF FITd @elbeur(h SuewiG 4% gnigd
CaTemiGL  OFevadBgl. BUOUTIRH DIH6T WHH6T OiHTensd 32,448  6l6niled
Brenih LWIBHHEHHEG (P& LDSHH6TOHTEnS 6T6ieedTd E(HHH(HHGLD?

a. 31424 b. 28868 c. 30000 d. 31242

The missing term of the following sequence is 0, 0.5, 0.6666..., 0.75,?

a.0.87 b. 0.85 c. 0.8 d. 0.79
eaTLT euflemauled alBul L eremiewimerg 0, 0.5, 0.6666..., 0.75,7?
a.0.87 b. 0.85 c.0.8 d. 0.79
3111 .
The next term of the sequence 3=,=,=,—,___ .. 1is
2 28 40
1 1 1 1

a. — . — C. — d. —

140 440 240 340
SEE}i ol GHTLfled 9IBhHd 2 _mil

55 a0 — B Ll AbDD WL
1 1 1 1

a. — ) c. =4 d. —

140 440 240 340
1.1.1 7.3. 5 thenx:y:zis
Xy z
a.2:3:5 b.6:10:15 c.5:3:2 d.15:10:6
1.1.1.2:3:5 aafed x: y : Z eIaiiug
Xy z
a.2:3:5 b.6:10:15 c.5:3:2 d.15:10:6

Find out compound interest on 16,000 at 15% per annum, compounded
yearly for 3 years.

a. Rs.7200 b. Rs.9000 c. Rs.8343 d. Rs.8334

0h.160003  15% Sl Beuliguied 3  LaiBBEHEBEG BN BBLIGLIHLD
AL 1YHOHTENS 616116116167

a. Rs.7200 b. Rs.9000 c. Rs.8343 d. Rs.8334

If the sum of a number and its square is 182. What is the number?

QH CTENIEMIL T  DIHET  UTHBHHMBHH L l9ealTed 182 FHlewL HHMHI 6160160
SIbFH eTewl WmghHl?

a. 15 b. 26 c. 28 d.13
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17.

18.

19.

20.

21.

22.

In how many years will a sum of Rs. 800 at 10% per annum
compounded semi-annually becomes Rs. 926.10?

a. 1% years b.1 %2 years C. 2% years d. 2 %2 years

5.800 6B OFTewawimeng, 10% ouewiB eullguled aUBLSHBGH BTewi(h
(WPOB GG QY SHMISHLLILULLTD THHmeT DeuibHeled DISH6HTNS
5.926.10 915 LOTBID?

a. 1% aUBLBIGEET b, 1 V2 eupLmisern C. 2% aupLmIs6T  d. 2 V2 eu@pLmicmel

The missing term of the following sequence is 0, 6, 24, 60, 120, 210, (?)

a. 290 b. 240 c. 336 d. 504
QzmLT euflnguled alGuLL eewremmengi0, 6, 24, 60, 120, 210, (?)
a. 290 b. 240 c. 336 d. 504

At which rate of simple interest, will the amount be twice in 20 years?
Bmugl auHLMmIS6ND BTD CFISHID OHTend G(H OL MISTEIT60 H6oll UL 1g
AP HID eTeITUTS E(HHGD?

a.4% b. 5% c. 6.66% d. 3.33%

Find out the wrong number in the sequence: 9,13,21,39,69, 133
a.39 b.13 c. 21 d. 69

etteud GOHTLTauflengulled SHaUBTeT 6T6wT 616316017

9,13,21,39,69, 133

a.39 b.13 c. 21 d. 69

The sum and the product of two numbers are 25 and 144 respectively,
the difference of the number is?

a.3 b.5 c.7 d.11

Bewi(y eTewibeNeal FnbHev OBmID OCLhESBUVET (BB 25 mmib 144
ooy DelbleueIHeMeT aISHHWLTFD SHTevIH?

a.3 b.5 c.7 d.11

1£1000:10 = x : —— find x.
1000

a. 10 b. L c.1000 d. -1

10 1000
1000 : 10 = x :ﬁ GTeN6L X -60T DA IGLIS BHITCNIS.
a. 10 b, L c.1000 d. -1

10 1000
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23.

24.

25.

26.

27.

1.6 expressed as fraction is

16 16 5 4
a. — .= c. - d. -
10 9 3 8
1.6 ettty LTevau(hLIIGTUBBIGT 6lhd LIeTeSHbGF FLob?
16 16 S 4
a. — b. — C. - d. -
10 9 3 8

Calculate the compound interest on Rs. 9,000 in 2 years when the rate of
interest for successive years are 10% and 12% respectively.

M CITV55E BSS0H5S AMBBEHSS wWwopGu 10% whpd 12%
allp ainsHe0 . 9,000 5@ 2 YBHEHHEG OHTLT aUlly 6lalel6Te]?

a. Rs.1,188 b. Rs.2,088 c. Rs.4,396 d. Rs.2,596

In a two digit number, the sum of digits is 11. If the digits are reversed
then the new number is 9 less than the given number. The given

number is

QH Bm Bvsd el @eVsEEIGMET mBHD 11.  ObHSH eTewTn6T
S omppd GFwib Curgd FHMLSGWD UHul eewr, OCBTHSHBLILILL 6160660651
Al 9 @ewme] 6160 OBTHHSLILIL L 616w

a. 47 b. 29 c.74 d. 65

A bag contains one rupee, 50 paise and 25 paise coins in the ratio 5: 6 :

7. 1f the total amount is Rs. 780. Find the number of coin of each kind.
@(H emUUled, e@(h apuUTUI, 50 edUFT, 25 ewUFT HTewILMIGT (BB 5 : 6

7 B alHHHHL 2 6ol DFHe CoTHdH WwH] ep 780  elewmev
&IOIGUT(T [HTEMIWIKIGHETI6 616616001 dH6ND 616316017

a. 400, 560, 680 b. 230, 400, 600 c. 400, 280,400 d. 400, 480, 560

Which of the following is not true?

i. Every rational number is a real number

ii. Every integer is a rational number .

iii. Every real number is an irrational number -

iv. Every natural number is a whole number

a. (iv) alone b. (i)and(ii) c. (iii) and (iv) d. (iii) alone
LN esTeu(HeUGITOUBMIGT 618 2 6WIenLoUIcO6)?

1. @6lleum(h elSSHPBI eTewiamid GIouIGlLI6HT

1. @aIOaITH (LPIPSHHEHID &SPl 616w

1il. @aIOeum(H CUICUIETETENID NS SHPMT 616w

V. @6alGeuT(H Buled 6TeTenIlD @(h (LP(LD 6T6u0T

a. iv B b.i wBmpd il c.iii wBmpb iv d. iii 1wl G
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28.

29.

30.

31.

32.

If Rs. 510 be divided among A, B, C in such a way that A gets % of what

B gets and B gets % of what C gets, then their shares are respectively

a.40:110: 360 b.60:90:360 ¢.90:360:90 d.50:120:360
ar 510 syeniz A, B woppid C &g udlibg Sleésliubadng. A el

&5 B Oupid GxTensuied % QuupidpTT. B eeiuam @zHsd C  Gupid

CFHTenHUI60 % CQUBIHIBTT 6TeN6L DiUTH6MGT LIRS B OHTNBHHEI
a.40:110: 360 b.60:90:360 ¢.90:360:90 d.50:120:360

Ramya earned per month Rs. 28,296. She utilized her salary in the ratio
4:1:3 for education, savings and other expenses respectively. Find her
savings?

a. Rs. 2,829.60 b. Rs. 3,247 c. Rs. 3,427 d. Rs. 3,537
JIOWT @6lGleuT(h LOTSHPD ¢h 28,296 FHOUTHHHMBAT. iFHewennr 4 : 1 : 3 eIy
alFHHFHe0 (BB  Heval, GFll] LBWID @FHF GFeveydeT GFUISDTT
aiedlled oleuT CFLldbGD CFHTeNS 6666, ?

a. op 2829.0 b. 53,247 C. eop 3,427 d. ey 3,537

Mani’s and Vijay’s salary is 4:5 and Vijay’s and Kumar’s salary is 2:3. If
Mani’s salary has Rs. 800 the kumar’s salary is?

a. Rs. 1000 b. Rs. 1200 c. Rs. 1500 d. Rs. 2000

loewil  LOBMID efuiest &buemd 4:5 BmID eleul MWD GLTfleT  Flbuer
AP b 2:3. ewilulledr Flbuemd ¢F.800 eTelled, @LOMfled FLbUGTD WITgI?

a. Rs. 1000 b. Rs. 1200 c. Rs. 1500 d. Rs. 2000

The least value of x for which 7x 5462 is exactly divisible by 9 is

a. 6 b.3 c.9 d.7

7x5462 6B etewt 90  BHUT  auGUBID elefled  X-65T  (GMMHBLLF
oI

a. 6 b.3 c.9 d.7

Three numbers are in the ratio 4:5:6 and their average is 25. The largest

number is

a. 35 b. 40 c. 45 d. 30

epedil  eTewtdberlell aldBlHD 4 : 5 @ 6. QGH@ImLW FITFH 25 elefled LOH
Quiflur eTemT 615H1?

a. 35 b. 40 c.45 d. 30
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33.

34.

35.

36.

37.

38.

39.

If5a+3b:4a+7b=3:4,thena:bisequalto

a.9:8 b.7:11 c.8:9 d.11:9
5a+3b:4a+7b=3:4,eafled a:b a1 aldSHD BTewIS.
a.9:8 b.7:11 c.8:9 d.11:9

The fourth proportional to 5, 8, 20 is
5, 8, 20- ecremrenfiBaHTe HTTHTOISH B HTFFTIID
a. 18 b. 24 c. 32 d. 40

The ratio of the number of boys and girls in a college is 5 : 6. If the
percentage increase in the number of boys and girls be 20% and 25%
respectively, what will be the new ratio?

@@ Heofufled o 66 LOTEUTEUTSHET LOBEID LOTETONSEHSHHTR aldHD S : 6
oTemiaUTHee  eTewianlbanduledmbdh  20%-b  wBmid  wTewtelse e
cremtenflbenauUled(Bham 25 %-10 2 WTSHSIUBSBSHI. 6Tefled LDTERIITHET LOMBEBID
LOTEOT B EThBSTe LFHUl aNSlHLD 61656017

a.6:7 b.7:6 @4 39 d.6:5

Find the difference between simple interest and compound interest on
Rs.2,400 at 2 years-at 5% per annum compounded annually.

a. Rs.5 b. Rs.6 c.Rs.8 d. Rs.7

h.2,4005& 5% e el aiFHd 2 emiBseflled HmLbGHD (B
AU YHGSGLD SHAULIQHGID 2 6iTeN alGHHUWITFID HTCwIsH.

a. em.5 b.¢m.6 C. ¢ 8 d. .7
Ifa:b=3:2,b:c=3:4,c:d=2:3finda:b:c:d

a.3:2:4:3 b.9:6:8:6 c.9:6:8:12 d.3:6:8:12
a:b=3:2,b:c=3:4,c:d=2:3 aale0 a:b:c:d -2 smew
a.3:2:4:3 b.9:6:8:6 c.9:6:8:12 d.3:6:8:12
What will be the duplicate ratio of 2 : 7?

a.4:49 b.49 : 4 c.4:14 d. 8:343

2 27 —e1 Uy alHBLD eTeTeIeUTS E)(HGHLD?

a.4:49 b.49 : 4 c.4:14 d. 8:343

If simple interest for a sum of Rs 3100 for 4 years is Rs 40 more than the
simple interest of Rs 2900 for the same rate of interest then the rate of
interest is

ah. 3,100 && 4 UBHLMBEHHEG GBUILL aully aldHHHed aubHD Heolell g
. 2,900 58 6% &MeVHHMBS 9I6FH au'ly AlHHHH6L GUHD Heolall 1genul
Al eh. 40 SIFHIOTH 2 66N 61660 QUL LY IS HLOTEISHI

a.2% b. 5% c. 8% d. 10%
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40. Find the wrong number in the series :
1, 3,10, 21, 64, 129, 356, 777
a. 10 b. 21 c. 64 d. 356
oTell GFHTLMN6D HEUBTE 6T60T6N6TE  SHT6MIH
1, 3,10, 21, 64, 129, 356, 777
a. 10 b. 21 c. 64 d. 356
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